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Pb2+
pH EC
110 2mm 1
1
0.IN Na
250mesh-SA-B
pH 55
o (%) 47.10 360
2 Po 2 (%) 39 39
.
Pb EC Dao(mm) 0.0045 0.035 0.001
1.28 mSm Dso(mm) 0.13 0.376 0.001
mg/L 2.707 2518 2.58
49 2
Pb**  40mL  125mL
Po” 00:51,5,10,50,100, 0, 1, 10, 100, 200, 300, 1000
6 (mg/L) 200,300,1000 VT T T S
0.45u m 4(g)
ICP Sl Po** 40 (mL)
1) 3
pH EC pH 6.43 6.45 7.12
~ (CO _ C)V (mS/m) 5.85 5 65
=" 1 Al (mg/L) 714 256 54.0
q c c B( " ) 0.01 0.07
0 Ca( " ) 5.86 1.61 2.86
M v Fe( " ) 25.9 4.18 6.38
3 Mg( " ) 212 112 6.40
Mn( " ) 0.70 0.21 0.02
Al Fe Na Na( " ) 12.6 3.61 192.3
Pb ( ) 0.12 0.05 0.32
Na
Zn( ) 0.07 0.02 0.05
16 53
Dso

1 27 367
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1 = pH EC
Pb2+
pH 45
= 3.7 mg/L 300mg/L
13.3mg/L 100mg/L
pH Pb%* 1000mg/L
pH 67 83
pH Pb**  Pb(OH), =
EC Pb** Omg/L
509mS/m 204mS/m Pb**
34 mS/m Pb-mg/L
20 mSm Pb-mg/L =
EC
2 pH
pH Ca Na Mg
1 EC
pH
Mn
3
Pb®*  1000mg/L 99%
0007 Pb-g/ 1g 0002 Pbg 1g
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Kd=0.0016 b=0.252

Freundlich

Kd=0.0003 b=0.344
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